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Write all answers in your blue book. Show all of your work.

 

 

 

 

1. (10pts) Fill in the following table so that this bank is illiquid and insolvent. Assume that the required reserve ratio is 10%, and that checking deposits are the only kind of deposit in this economy. 

 

Assets Liabilities
Required Reserves______________ Deposits $100,000,000

Excess Reserves _______________ 

Five-year loans_______________ Bank Capital_______________

 

 

2. Consider the Savings and Loan (S&L) crisis of the 1980's. Half of the banks in the S&L industry were insolvent in 1980. However, Congress instituted a policy of regulatory forbearance which prevented the closure of these insolvent S&L's. Moreover, deregulation by Congress in the early 1980's expanded the risk-taking opportunities of Savings and Loan banks by allowing them to hold risky assets such as commercial real estate loans and junk bonds. 

 

(a) (5pts) Describe the incentive that an insolvent S&L has to make risky loans.

(b) (10pts) Why do reforms instituted since the S&L crisis require banks to hold higher levels of bank capital?

 

 

3. (25pts) Suppose you are an economic adviser to a Federal Reserve District Bank President who sits on the Federal Open Market Committee (FOMC). Your boss tells you that he is planning to propose at the next FOMC meeting that the Fed target an annual money supply growth rate of 4.5%, and simultaneously establish a Federal Funds Rate target of 6.25% for the next six weeks. Your boss asks for an economic analysis of the feasibility of his plan. Refer to graphs where appropriate in your analysis.

 

 

4. Consider the following information about a hypothetical economy. Between 1990 and 2000 the natural rate of output grew by 18%, the price level grew by 23%, and the average annual nominal interest rate was 7%. 

 

(a) (15pts) Assume the Classical Quantity Theory (CQT) of money holds. By what percentage did the money supply change over the course of the decade? 

(b) (10pts) Why does the CQT generally predict well over the course of a decade but rather poorly over the course of a single year? 

 

 

5. (a) (15pts) Consider the Keynesian IS-LM model. With reference to an IS-LM diagram, explain the effects on real aggregate output of a reduction in the money supply. 

(b) (10pts) Would someone who believes in the Classical Dichotomy use an IS-LM model to determine the effects of monetary policy? Explain why or why not, with reference to a definition of the Classical Dichotomy.

